© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

0184917382 HANSAMIX - Cover part for bath and shower faucet

EAN: 4015474077874
statichansa.com/0184917382

Spare parts
SP01849173
Name Code

1 Lever, L=87 mm 59914195
1 Long lever, L=138 Chrome 01880076
11 Screw, M5x8, SW2.5 59904755
12 Bushing 59904778
13 Symbol plug Grey 59912112

2 Cover flange White 59911968
2 Cover plate, d 205 mm Chrome 59911967
21 Covering cap Chrome 59904820
23 Screw, M5x65 White 59906672
23 Screw, M5x65 Chrome 59904847
23 Screw, M5x65 Gold 59904849
2.4 Flow limiting cap 59904846
25 Rubber gasket 59912232

2.6 0-ring, 55x2 59912543
5 Diverter Chrome 59910900
5 Diverter White 59910901
5 Diverter Gold 59906392
52 Sealing kit 59904791
53 0-ring, d 4x1 59902331
N.I. Raising kit, 20 mm 59904983

1


https://static.hansa.com/0184917382

